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1. First dithiocarbamate fungicide,

discovered by Tisdale (in 1934),

was

(A) maneb

(B) thiram

(C) zeram

(D) zineb

2. Quarantine regulations are

enforced by

(A) a Country

(B) a State

(C) a State or Country through

legislation

(D) None of the above

3. The internally seed-borne

infection can be destroyed by

(A) hot water treatment

(B) solar energy treatment

(C) use of selected antibiotics

and systemic fungicides

(D) All of the above

4. The great Bengal Famine in

1943 was due to

(A) paddy blast

(B) brown leaf spot of rice

(C) bacterial leaf blight

(D) rice tungro

5. Banana streak virus is

transmitted by

(A) mealybug

(B) thrips

(C) whitefly

(D) mite

6. Who is the father of virology?

(A) Adolf Mayer

(B) Martinus Willem Beijerinck

(C) Richard Scolyer

(D) Stanley

7. Which of the following began in

1845 when a fungus-like

organism called Phytophthora

infestans spread rapidly

throughout Ireland?

(A) The Dust Bowl

(B) The Irish Potato Famine

(C) Red Scare

(D) The Great Depression

8. The shape of acervuli is

(A) round

(B) oblate

(C) saucer

(D) conical
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1. {Q>ÒS>ob ¤mam (1934 _|) ImoO {H$`m J`m

nhbm S>mB{W`moH$m~m©_oQ> \$\±y$XZmeH$ H$m°Z-gm

h°?

(A) _mZo~

(B) {Wa_

(C) {µOa_

(D) {µOZo~

2. gßJamoYZ {Z`m_H$ H$m°Z bmJy H$aVm h°?

(A) Xoe

(B) am¡`

(C) {dYmZ ¤mam am¡` `m Xoe

(D) Cn`©w∫$ _| go H$moB© Zht

3. Am›V[aH$ ~rO-O{ZV amoJ H$mo H°$go ZÔ> {H$`m

Om gH$Vm h°?

(A) J_© Ob CnMma go

(B) gm°a D$Om© CnMma go

(C) M`{ZV ‡{VO°{dH$ Am°a ‡UmbrJV

\$\±y$XZmeH$ Ho$ ‡`moJ go

(D) Cn`©w∫$ g^r

4. 1943 Ho$ ^`mZH$ (^rfU) ~ßJmb AH$mb

H$m ä`m H$maU Wm?

(A) YmZ H$m „bmÒQ> amoJ

(B) YmZ H$m ^yam nŒmmY„~m amoJ

(C) OrdmUw-O{ZV nŒmmPwbgm amoJ

(D) YmZ H$m Qw>›J´mo amoJ

5. Ho$bo H$m ÒQ¥>rH$ {dfmUw {H$gHo$ ¤mam gßMm[aV

hmoVm h°?

(A) _rbr~J

(B) {W´flg

(C) gµ\o$X _äIr (dmBQ>‚bmB©)

(D) KwwZ H$sQ> (_mBQ>)

6. dmBamobm∞Or H$m OZH$ {H$go H$hm OmVm h°?

(A) ES>m∞Î\$ _o`a

(B) _m{Q>©Zg {dbo_ ~oBO[aßH$

(C) [aMS>© ÒH$moÎ`oa

(D) ÒQ>°Zbr

7. O~ 1845 _| nyao Am`ab¢S> _oß \$\±y$X-Í$nr

amoJOZH$, \$mBQ>mo‚Wmoam B›\o$ÒQ>°›g VoOr go \°$bm

Wm, V~ ä`m Amaß^ hwAm Wm?

(A) S>ÒQ> ~mCb

(B) Am`ab¢S> H$m Amby AH$mb

(C) gmÂ`dmX H$m ^`

(D) ^rfU _ßXr

8. Egadw{b H$m AmH$ma H°$gm hmoVm h°?

(A) Jmob

(B) gnmQ>

(C) VÌVarZw_m

(D) eßπ$mH$ma
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9. Erysiphe polygoni causes

powdery mildew on

(A) pigeon pea

(B) pea and lentil

(C) wheat

(D) All of the above

10. Gene-for-gene hypothesis was

given by

(A) Anton de Bary

(B) Harold Flor

(C) Ernst Albert Gäumann

(D) H. Craigie

11. Nobel Prize was awarded to Paul

Müller on the discovery of which

of the following pesticides?

(A) DDT

(B) Parathion

(C) Malathion

(D) Pyrethrum

12. Which of the following is referred

to as water moulds?

(A) Oomycetes

(B) Zygomycetes

(C) Ascomycetes

(D) Basidiomycetes

13. Ascus normally contains how

many numbers of ascospores?

(A) 8

(B) 16

(C) 4

(D) None of the above

14. Movement and transport of

potato growing in Darjeeling

district of West Bengal to other

parts of India is prohibited due

to domestic regulation in respect

of

(A) golden nematode

(B) potato wart

(C) brown rot of potato

(D) late blight of potato

15. Cotton leaf curl disease was

introduced in India from

(A) China

(B) Pakistan

(C) Afghanistan

(D) Japan

16. The book, Species Plantarum was

written by whom?

(A) Richardson

(B) Prusiner

(C) P. A. Micheli

(D) C. Linnaeus
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9. EargmB\$s nm∞brJmoZr {H$g na My{U©b Am{gVm

amoJ n°Xm H$aVm h°?

(A) Aaha

(B) _Q>a Am°a _gya

(C) Joh±ˇ

(D) Cn`w©∫$ g^r

10. OrZ-\$m∞a-OrZ n[aH$ÎnZm {H$gZo Xr Wr?

(A) EßQ>moZ S>r ~oar

(B) hoamoÎS> ‚bmoa

(C) A›ÒQ>© AÎ~Q>© Jm°_Z

(D) EM0 H´o$Jr

11. nm∞b Â`yba H$mo {ZÂZ{b{IV _| go {H$g

H$sQ>ZmeH$ H$s ImoO Ho$ {bE Zmo~ob nwaÒH$ma

‡XmZ {H$`m J`m Wm?

(A) S>r0 S>r0 Q>r0

(B) n°am{W`m∞Z

(C) _°bm{W`m∞Z

(D) nmBaoW´_

12. {ZÂZ{b{IV _| go {H$go Ob \$\±y$X Ho$ Zm_ go

OmZm OmVm h°?

(A) D$Amo_mB{gQ>rO

(B) OmBJmo_mB{gQ>rO

(C) EoÒH$mo_mB{gQ>rO

(D) ~o{g{S>`mo_mB{gQ>rO

13. EoÒH$g _| gm_m›`V: {H$VZo EoÒH$g ~rOmUw

(EoÒH$moÒnmog©) hmoVo h¢?

(A) 8

(B) 16

(C) 4

(D) Cn`©w∫$ _ßo go H$moB© Zht

14. npÌM_ ~ßJmb Ho$ Xm{O©qbJ {Obo _| CJZo dmbo

Amby H$mo ^maV Ho$ A›` ^mJm| _|o bo OmZo Am°a

n[adhZ na amoH$ h° Kaoby {d{Z`_Z Ho$ H$maU

{ZÂZ{b{IV _oß go {H$gHo$ H$maU h°?

(A) JmoÎS>oZ {Z_oQ>moS>

(B) Amby H$m _Ògm amoJ

(C) Amby H$m ^yam gãS>Z amoJ

(D) Amby H$m nN>oVm Pwbgm amoJ

15. H$nmg H$m br\$ H$b© (nŒmr _amoãS>) amoJ ^maV

_| {H$g Xoe go Am`m Wm?

(A) MrZ

(B) nm{H$ÒVmZ

(C) Aµ\$Jm{ZÒVmZ

(D) OmnmZ

16. ÒnrerµO flbmßQ>oa_ nwÒVH$ Ho$ boIH$ H$m°Z h¢?

(A) [aMS>©gZ

(B) ‡y{gZa

(C) nr0 E0 {_eobr

(D) gr0 {b{ZAg
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17. Suicidal germination takes place

in

(A) dodder

(B) striga

(C) loranthus

(D) None of the above

18. The moisture level required for

vermicomposting should be

(A) below 30%

(B) 40 to 50%

(C) 70 to 90%

(D) above 90%

19. Smallest plant parasitic

nematode is

(A) Aphelenchoides spp.

(B) Paralongidorus maximus

(C) Longidorus spp.

(D) Paratylenchus nanus

20. In Europe nematode is known as

(A) nema

(B) roundworm

(C) eelworm

(D) None of the above

21. Which of the given diseases is

related to groundnut?

(A) Tikka

(B) Phomopsis blight

(C) Leaf rust

(D) Alternaria blight

22. Which of the given diseases is

caused due to the deficiency of

copper in plants?

(A) Whiptail disease

(B) Khaira disease

(C) Dieback disease

(D) Marsh disease

23. The computerized disease

assessment training programme

is

(A) DISTRAIN

(B) LOPAT

(C) DAS-ELISA

(D) EPIDAM

24. Mycelium of class Oomycetes is

always

(A) coenocytic

(B) septate

(C) cross septa

(D) None of the above
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17. AmÀ_KmVr AßHw$aU {H$g_| hmoVm h°?

(A) A_a~ob

(B) pÒQ¥>Jm

(C) bmoao›Wg

(D) Cn`©w∫$ _ßo go H$moB© Zht

18. H|$MwAm ImX ~ZmZo Ho$ {bE {H$VZr Z_r H$s

AmdÌ`H$Vm hmoVr h°?

(A) 30 % go ZrMo

(B) 40 go 50 %

(C) 70 go 90 %

(D) 90 % go D$na

19. g~go N>moQ>m nm°Yo H$m naOrdr gyÃH•${_ H$m°Z-gm

h°?

(A) E\o$b|H$moBS>rO ÒnrerO

(B) n°ambm±{OS>moag _°päg_g

(C) bm±{OS>moag ÒnrerO

(D) n°amQ>mBb|H$g Z°Zg

20. `yamon _| gyÃH•${_ H$mo ä`m H$hVo h°ß?

(A) {Z_m

(B) amCßS>d_©

(C) B©bd_©

(D) Cn`©w∫$ _ßo go H$moB© Zht

21. H$m°Z-gm amoJ _±yJ\$br go OwãS>m h°?

(A) {Q>∏$m

(B) µ\$mo_mopflgg Pwbgm amoJ

(C) nŒmr H$m aÒQ>

(D) AÎQ>aZo[a`m Pwbgm amoJ

22. nm°Ym| _| Vm±~o H$s H$_r go H$m°Z-gm amoJ hmoVm

h°?

(A) pÏhnQ>ob amoJ

(B) I°oam amoJ

(C) S>mB©~°H$ amoJ

(D) _me© amoJ

23. H$Âfl`yQ>arH•$V amoJ AmH$bZ ‡{ejU H$m`©H´$_

H$m°Z-gm h°?

(A) DISTRAIN

(B) LOPAT

(C) DAS-ELISA

(D) EPIDAM

24. D$Amo_mB{gQ>rO dJ© H$m _mBgr{b`_ gXm H°$gm

hmoVm h°?

(A) gßH$mo{eH$s`

(B) nQ>`w∫$

(C) H´$m∞g goflQ>m

(D) Cn`©w∫$ _ßo go H$moB© Zht
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25. L. C. Coleman was a general

pathologist during 1914 but

worked and suggested control

measures for

(A) koleroga of areca

(B) tur wilt

(C) late blight of potato

(D) blister blight of cocoa

26. Most viruses move longer

distances through the plants in

the

(A) xylem

(B) plasmodesmata

(C) phloem

(D) Both (A) and (B)

27. Apple scab is caused by

(A) Podosphaera leucotricha

(B) Spilocaea pomi

(C) Venturia inaequalis

(D) Armillaria mellea

28. Mycoplasmas differ from viruses

in that they are sensitive to

(A) penicillin

(B) tetracycline

(C) sugars

(D) amino acids

29. Blotter test is used in

(A) seed health testing

(B) seed purity test

(C) seed viability

(D) seed rate

30. Disparlure is a sex pheromone

of

(A) silkworm

(B) gypsy moth

(C) pink bollworm

(D) cabbage looper

31. Attractant methyl eugenol is

used against

(A) Anar butterflies

(B) Whiteflies

(C) Bark beetles

(D) Fruit flies

32. What is true for Bihar hairy

caterpillar?

(A) It is gregarious in nature

(B) It is a sporadic pest

(C) It is also known as jute

hairy caterpillar

(D) All of the above
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25. Eb0 gr0 H$mob_°Z 1914 _| EH$ Am_ nmXn

amoJ {dkmZr Wo na›Vw C›hmoßZo {ZÂZ{b{IV _| go

{H$g na H$m`© {H$`m Am°a {Z`ßÃU Ho$ Cnm`

gwPmE?

(A) gwnmar H$m H$moboamoJm (_hmbr)

(B) Aaha H$m Pwbgm

(C) Amby H$m nN>oVr AßJ_mar

(D) H$moH$mo H$m p„bÒQ>a „bmBQ>

26. nm°Ym| _| {dfmUw bÂ~r Xyar VH$ ÒWmZ n[adV©Z

{H$gHo$ ¤mam H$aVo h¢?

(A) OmBb_

(B) flbm¡_moS>oÒ_mQ>m

(C) ‚bmoE_

(D) (A) Am°a (B) XmoZm|

27. go~ H$m ÒH°$~ amoJ {H$gHo$ ¤mam hmoVm h°?

(A) nmoS>moÒ\o$am Î`yH$mo{Q¥>Mm

(B) pÒnbmoHo$`m nmo_r

(C) d|Mw[a`m BZBπ$m{bg

(D) Am{_©bo[a`m _o{b`m

28. _mBH$moflbmµµ¡_m (H$dH$ –Ï`), {dfmUwAm| go

{^fi hmoVo h¢ ä`m|{H$ do _____ Ho$ ‡{V

gßdoXZerb hmoVo h¢ü&

(A) no{Z{g{bZ

(B) Q>oQ¥>mgmBpäbZ

(C) eH©$am

(D) E{_Zmo Eo{gS>

29. „bm∞Q>a narjU {H$gHo$ {bE ‡`moJ hmoVm h°?

(A) ~rO ÒdmÒœ` narjU

(B) ~rO ew’Vm narjU

(C) ~rO OrdZj_Vm

(D) ~rO Xa

30. {S>ÒnmaÎ`moa {H$gH$m goäg \o$amo_moZ h°?

(A) aoe_ H$sQ>

(B) {Oflgr nVßJm

(C) Jwbm~r ~m∞bd_©

(D) nŒmmJmo^r byna

31. AmH$fu {_WmBb `yOoZm∞b {H$gHo$ {dÈ’ ‡`moJ

{H$`m OmVm h°?

(A) AZma H$s {VVbr

(B) gµ\o$X _äIr

(C) N>mb ^ß•J

(D) \$b _äIr

32. {~hma ho`ar Ho$Q>a{nba Ho$ {bE ä`m `WmW© h°ü?

(A) `h Pw�S> _oß ahZodmbm H$sQ> h°

(B) `h {N>Q>nwQ> H$sQ> h°

(C) Bgo OyQ>> (nQ>gZ) ho`ar Ho$Q>a{nba ^r

H$hVo h¢

(D) Cn`ww©∫$ g^r
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33. Which compound would be

found in the exocuticle but not

in the endocuticle?

(A) Chitin

(B) Quinone

(C) Protein

(D) Wax

34. What is the function of the

micropyle in an insect’s egg?

(A) Water balance

(B) Nutrition

(C) Respiration

(D) Sperm entrance

35. Chitin is a very important part of

the insect’s exoskeleton,

because

(A) it is impermeable to water

(B) it is rigid and inflexible

(C) it is not digested by

common enzymes

(D) it is flexible and elastic

36. Which structure is not a part of

the central nervous system?

(A) Frontal ganglion

(B) Tritocerebrum

(C) Circumesophageal

commissure

(D) Subesophageal ganglion

37. The chemical trail produced by

foraging ants would be classified

as a/an

(A) kairomone

(B) pheromone

(C) allomone

(D) synomone

38. Which is a wrong combination?

(A) Light flash in

firefly—Courtship

(B) Waggle dance in honey-

bee—Location of food

(C) Trophallaxis in ants—

Warning against enemy

(D) Hissing in cockroach—

Alarm

39. In an ant nest, all workers are

(A) adult males

(B) immature males

(C) adult females

(D) immature females

40. All insects must communicate in

order to

(A) find a mate

(B) survive the winter

(C) locate food

(D) avoid predation
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33. H$m°Z-gm {_lU ~m¯ CnÀdMm _| nm`m OmVm h°

na AßV:CnÀdMm _| Zht?

(A) H$mB{Q>Z

(B) {ädZmoZ

(C) ‡moQ>rZ

(D) _mo_

34. ~rOmßS>¤ma H$m H$sQ> Ho$ AßS>o _| ä`m H$m`© hmoVm

h°?

(A) Ob gßVwbZ

(B) nmofU

(C) úgZ

(D) ewH´$mUw ‡doe

35. H$mB{Q>Z, H$sQ> Ho$ ~m¯ Hß$H$mb H$m _hŒdnyU©

^mJ h° ä`m|{H$

(A) `h Ob-A^o⁄ h°

(B) `h H$R>moa Am°a AQ>b hmoVr h°

(C) `h gm_m›` E›µOmB_m| go nm{MV Zht

hmoVr h°

(D) `h bMrbr Am°a _wbm`_ hmoVr h°

36. {ZÂZ{b{IV _| go ä`m H|$–r` ÒZm`wVßÃ H$m ^mJ

Zht h°?

(A) bbmQ> ZmãS>rJ´{›W (\´ß$Q>b J¢pΩb`Z)

(B) V•Vr`‡_pÒVÓH$ (Q¥>mB©Q>mogoao~´_)

(C) gH©$_Bgmo\o${O`b gß`mo{OH$m

(gH©$_Bgmo\o${O`b H${_ea)

(D) g~Bgmo\o${O`b ZmãS>rJ´p›W

(g~Bgmo\o${O`b J¢{Ωb`Z)

37. Mmao H$s Vbme _| Mt{Q>`m± Omo amgm`{ZH$

nWYy_ (Q¥>ob) n°Xm H$aVr h¢, Cgo {H$g_o|

dJuH•$V H$a|Jo?

(A) H°$amo_moZ

(B) \o$amo_moZ

(C) Ebmo_moZ

(D) gmBZmo_moZ

38. {ZÂZ{b{IV _| go H$m°Z-gm µJbV _ob h°?

(A) OwJZy _| ‡H$me H$s X_H$—‡U`-{ZdoXZ

(B) _Yw_{äI`m| _| d°Jb Z•À`—^moOZ H$m

{R>H$mZm

(C) Mt{Q>`m| _| nmof{d{Z_` (Q¥>mo\°$b°pägg)—

eÃw Ho$ ‡{V MoVmdZr

(D) {VbM≈>o H$m \w$\$H$maZm—IVao H$s KßQ>r

39. Mt{Q>`m| Ho$ N>Œmo _ß|, g^r H$_oar Mt{Q>`m± H$m°Z

hmoVr h¢?

(A) d`ÒH$ Za

(B) Ad`ÒH$ Za

(C) d`ÒH$ _mXm

(D) Ad`ÒH$ _mXm

40. g^r H$sQ>m| ¤mam gßnH©$ ~ZmZm (gyMZm XoZm)

AmdÌ`H$ ä`m| hmoVm h°?

(A) gmWr T>±yãT>Zo Ho$ {bE

(B) gXu go ~MZo Ho$ {bE

(C) ^moOZ VbmeZo Ho$ {bE

(D) {eH$mar go ~MZo Ho$ {bE



25/AGS/M–2023–08/18-A 12

41. Which event might initiate

nocturnal behaviour in an insect

whose activity cycle is under

exogenous control?

(A) Sunrise

(B) Rainfall

(C) Solar eclipse

(D) Too cold

42. Silencing of mRNA has been

used in producing transgenic

plants resistant to

(A) bollworms

(B) bacterial blights

(C) white rusts

(D) nematodes

43. Which one of the following

nozzles is generally considered

most suitable for undertaking

spraying of insecticide spray by

manually operated sprayers?

(A) Solid stream

(B) Flat fan

(C) Hollow cone

(D) Solid cone

44. The insects, belonging to which

of the following orders, are

dominant on the earth?

(A) Coleoptera

(B) Hemiptera

(C) Lepidoptera

(D) Hymenoptera

45. Gladiator belongs to the insect

order

(A) Phasmida

(B) Orthoptera

(C) Grylloblattodea

(D) Mantophasmatodea

46. In Chilopoda, the poison gland

is found in the

(A) I pair of legs

(B) II pair of legs

(C) III pair of legs

(D) None of the above

47. Eriophyid mite is characterized

by

(A) two pairs of legs

(B) three pairs of legs

(C) four pairs of legs

(D) no legs

48. Immature scales are called

(A) sliders

(B) gliders

(C) crawlers

(D) walkers
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41. EH$ H$sQ>, {OgH$m J{V{d{Y MH´$ ~{hOm©V

{Z`ßÃU _| hmoVm h°, Cgo am{Ã J{V{d{Y AmaÂ^

H$aZo Ho$ {bE ä`m K{Q>V hmoZm Mm{hE?

(A) gy`m}X`

(B) dfm©

(C) gy`©-J´hU

(D) AÀ`{YH$ R>�S>

42. mRNA silencing Ho$ O[a`o Q¥>mßgOo{ZH$

nm°Yo {H$gHo$ {dÈ’ V°`ma {H$`o OmVo h¢?

(A) ~m∞bd_©

(B) OrdmUw Pwbgm amoJ (~°äQ>r[a`b „bmBQ>)

(C) gµ\o$X aVwAm amoJ

(D) gyÃH•${_

43. Am_Vm°a na H$m°Z-gm ZmoµOb, _°›`wAb Í$n go

gßMm{bV Ò‡o`a Ho$ ¤mam H$sQ>ZmeH$ {N>ãS>H$Zo Ho$

{bE g~go Cn`w∫$ h°ü?

(A) R>mog Ymam ZmoOb

(B) ‚b°Q> \°$Z ZmoOb

(C) ImoIbm eßHw$ (hm∞bmo H$moZ) ZmoOb

(D) R>mog eßHw$ (gm∞{bS> H$moZ) ZmoOb

44. {ZÂZ{b{IV _| go {H$g Am∞S>©a Ho$ H$sQ n•œdr

na g~go ‡_wI h¢?

(A) H$mo{bAmoflQ>oam (Hß$MwH$nj)

(B) ho{_flQ>oam (_ÀHw$UJU)

(C) bo{nS>moflQ>oam (eÎH$nßIrJU)

(D) hm`_oZmoflQ>oam (H$bmnj)

45. Ωb°{S>EQ>a {H$ggo gß~ß{YV h°?

(A) \°$pÒ_S>m

(B) Am∞Wmo©flQ>oam (G$OwwnßIr JU)

(C) J´mBbmo„bmQ>mo{S>`m (bÂ~by_r)

(D) _ßQ>mo\$g_Q>moS>m

46. H$mBbmonmoS>m ({M~wnmX) _| {df J´ß{W H$hm± pÒWV

hmoVr h°?

(A) n°amoß Ho$ ‡W_ (I) `wJb na

(B) n°am| Ho$ Xygao (II) `wJb na

(C) n°am| Ho$ Vrgao (III) `wJb na

(D) Cn`w©∫$ _| go H$moB© Zht

47. E[a`mo\$mBS> _mBQ> H$s {deofVm h°

(A) n°am| Ho$ Xmo `wJb

(B) n°am| Ho$ VrZ `wJb

(C) n°am| Ho$ Mma `wJb

(D) H$moB© n°a Zht

48. An[anπ$ ÒHo$b H$sQ> H$mo ä`m H$hVo h¢?

(A) ÒbmBS>g©

(B) ΩbmBS>g©

(C) H´$m∞bg©

(D) dm∞H$g©
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49. The Johnson’s organ is present

on

(A) scape

(B) pedicel

(C) coxa

(D) trochanter

50. In which type of head, the

mouthparts are directed

backward between the front

legs?

(A) Hypognathous

(B) Prognathous

(C) Opisthognathus

(D) None of the above

51. The type of wing coupling

mechanism in hymenoptera is

(A) hamuli

(B) jugate

(C) frenulate

(D) None of the above

52. Apodous larvae are found in

(A) cyclorrhapha

(B) adephaga

(C) cicadomorpha

(D) None of the above

53. During embryonic stage, the

insect head has

(A) 4 segments

(B) 6 segments

(C) 7 segments

(D) 8 segments

54. Group of organisms of different

species living together in a place

is called as

(A) population

(B) community

(C) biome

(D) ecosystem

55. Sum total of environmental

forces which restrict the

population to grow indefinitely is

called as

(A) biotic potential

(B) environmental resistance

(C) competition

(D) None of the above

56. Gause principle explains the

phenomenon of

(A) mutualism

(B) competition

(C) amensalism

(D) parasitism
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49. Om∞ZgZ H$m AßJ H$hm± pÒWV hmoVm h°?

(A) ÒHo$n na

(B) noS>rgob na

(C) H$m∞ägm na

(D) Q¥>moH°$›Q>a na

50. {H$gHo$ _wImßJ H$m {gam gm_Zo H$s Q>m±Jm| Ho$

_‹` nrN>o H$s Amoa _wãS>m hmoVm h°?

(A) AYahZw (hmBnmoJ≤ZmWg)

(B) CX≤J{VhZw (‡moJ≤ZmWg)

(C) n¸hZw (Amo{nÒWmoJ≤ZmWg)

(D) Cn`w©∫$ _| go H$moB© Zht

51. hm`_oZmoflQ>oam (H$bmnj) _| nßI `wΩ_Z VßÃ {H$g

‡H$ma H$m hmoVm h°?

(A) hmWwbr (h_wbr)

(B) g_Í$n (OyJoQ>)

(C) ‡´J´hr nßI `wΩ_Z (\´o$ZwboQ>)

(D) Cn`©w∫$ _oß go H$moB© Zht

52. AnmX (EnmoS>g) gßw{S>`m± {H$Z_oß nmB© OmVr h¢?

(A) gmBäbmoa°\$m

(B) Am⁄J (EoS>r\°$Jm)

(C) {gH°$S>mo_m°a\$m

(D) Cn`©w∫$ _oß go H$moB© Zht

53. ^´yU AdÒWm _|, H$sQ> Ho$ {ga _| {H$VZo IßS>

hmoVo h¢?

(A) 4 IßS>

(B) 6 IßS>

(C) 7 IßS>

(D) 8 IßS>

54. EH$gmW EH$ ÒWmZ _| ahZo dmbo {d{^fi

‡Om{V`m| Ho$ Ordm| Ho$ g_yh H$mo ä`m H$hVo h¢?

(A) Am~mXr

(B) g_wXm`

(C) O°djoÃ (~m`mo_)

(D) nm[apÒW{VH$s VßÃ

55. n`m©daUr` H$maH$m| H$m `moJ\$b, Omo OZgßª`m

H$mo A{Z{¸V H$mb Ho$ {bE ~ãT>Zo go amoH$Vm h°,

Cgo ä`m H$hVo h¢?

(A) O°{dH$ j_Vm

(B) n`m©daUr` ‡{VamoY

(C) ‡{VÒnYm©

(D) Cn`©w∫$ _oß go H$moB© Zht

56. Jm°g {Z`_ H$m Vœ` ä`m ~VbmVm h°?

(A) ghOr{dVm

(B) ‡{VÒnYm©

(C) Agh^mo{OVm

(D) naOr{dVm
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57. Tendency of a living system to

resist changes and maintain

stability by its own regulating

forces is called as

(A) biotic potential

(B) mutualism

(C) homeostasis

(D) competitive exclusion

58. Spatial distribution of

organisms in a population is

termed as

(A) dispersion

(B) evacuation

(C) migration

(D) aggregation

59. Organisms with high rate of

reproduction and low rate of

survival are called as

(A) K-strategists

(B) r-strategists

(C) m-strategists

(D) l-strategists

60. Indian myna was introduced

from India to Mauritius for the

control of red locusts during

(A) 1672

(B) 1762

(C) 1888

(D) 1752

61. Wild populations of which of the

following insects have been

reported to be resistant against

Bacillus thuringiensis?

(A) Helicoverpa armigera

(B) Plutella xylostella

(C) Spodoptera litura

(D) Pectinophora gossypiella

62. Which of the following is correct

about NPVs (nucleopoly-

hedroviruses)?

(A) NPVs are host specific

(B) NPVs are photostable

(C) NPVs kill the host quickly

(D) None of the above

63. Which of the following insects

lay microtype eggs?

(A) Techinid flies

(B) Syrphid flies

(C) Dragonflies

(D) Whiteflies

64. Entomopathogenic nematode,

Steinernema sp. has mutual

association with

(A) Bacillus sp.

(B) Photorhabdus sp.

(C) Xenorhabdus sp.

(D) Nosema sp.
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57. Òd`ß H$s {Z`m_H$ e{∫$`m| go OrdZ Ï`dÒWm

Ho$ n[adV©Z H$mo amoH$Zo Am°a pÒWaVm ~ZmE aIZo

H$s ‡d•{Œm H$mo ä`m H$hVo h¢?

(A) O°{dH$ j_Vm

(B) ghOr{dVm

(C) g_pÒW{V

(D) ‡{VÒnYu ~{hÓH$ma

58. EH$ Am~mXr _| Ordm| Ho$ ÒWm{ZH$ {dVaU H$mo

ä`m H$hVo h¢?

(A) \°$bmd

(B) {a∫$sH$aU

(C) ‡dgZ

(D) EH$ÃrH$aU

59. Ord, {OZ_| ‡OZZ H$s CÉ Xa Am°a

CŒmaOr{dVm H$s H$_ Xa hmoVr h°, C›h| ä`m

H$hVo h°ß?

(A) K-Hy$Q>Zr{Vk

(B) r-Hy$Q>Zr{Vk

(C) m-Hy$Q>Zr{Vk

(D) l-Hy$Q>Zr{Vk

60. _m∞areg _| ^maV go ^maVr` _°Zm H$mo bmb

{Q>{»>`m| Ho$ {Z`ßÃU Ho$ {bE H$~ bm`m J`m

Wm?

(A) 1672

(B) 1762

(C) 1888

(D) 1752

61. ~°{gbg Ww[a®{OEp›gg Ho$ {dÈ’ {H$g H$sQ> H$s

OßJbr Am~mXr _| ‡{VamoY ~Vm`m J`m h°?

(A) ho{bH$modnm© Am{_©Ooam

(B) flbwQ>obm µOmBbmoÒQ>obm

(C) ÒnmoS>moflQ>oam {bQw>am

(D) nopäQ>Zmo\$moam Jm∞{g{nEbm

62. NPVs (nucleopolyhedroviruses)

go gß~ß{YV {ZÂZ{b{IV _| go ä`m ghr h°?

(A) NPVs nmofH$ {d{eÔ> hmoVo h¢

(B) NPVs \$moQ>moÒQ>o~b hmoVo h¢

(C) NPVs _oµO~mZ H$mo erK´ _ma XoVo h¢

(D) Cn`©w∫$ _oß go H$moB© Zht

63. H$m°Z-go H$sQ>> gy˙_ ‡H$ma Ho$ AßS>o XoVo h¢ü?

(A) Q>o{M{ZS> _päI`m±

(B) {ga{\$S> _päI`m±

(C) S¥>°JZ _päI`m±

(D) g\o$X _päI`m±

64. H$sQ>amoJOZH$ gyÃH•${_, ÒQ>rZZ}_m ‡Om{V H$m

{H$gHo$ gmW nmaÒn[aH$ gÂ~›Y h°?

(A) ~°{gbg ‡Om{V

(B) \$moQ>moao„S>g ‡Om{V

(C) µOoZmoao„S>g ‡Om{V

(D) Zmogo_m ‡Om{V
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65. The biocontrol agent involved in

the classical biological control of

cottony cushion scale in

California during 19th century

was

(A) Rodolia cardinalis

(B) Rodolia octoguttata

(C) Aphytis sp.

(D) None of the above

66. Milky disease in beetles is

caused by

(A) Bacillus thuringiensis

(B) Bacillus subtilis

(C) Bacillus popilliae

(D) Bacillus cereus

67. Aphelinus mali is an important

parasitoid of

(A) San Jose scale

(B) woolly apple aphid

(C) whiteflies

(D) leafminers

68. Which of the following

laboratory hosts is used for the

multiplication of egg

parasitoids?

(A) Rice weevil

(B) Rice butterfly

(C) Rice meal moth

(D) Indian meal moth

69. Which of the following families

contains effective predators of

insect pests?

(A) Coccinellidae

(B) Reduviidae

(C) Chrysopidae

(D) All of the above

70. The first case of insecticide

resistance in the world is

reported in

(A) diamondback moth

(B) San Jose scale

(C) housefly

(D) locust
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65. H°${bµ\$mo{Z©`m _| 19dt gXr _| H$m∞Q>Zr Hw$eZ

ÒHo$b Ho$ CÀH•$Ô> O°{dH$ {Z`ßÃU go H$m°Z-gm

~m`moHß$Q¥>mob EO|Q> OwãS>m Wm?

(A) amoS>mo{b`m H$maS>rZm{bg

(B) amoS>mo{b`m Am∞äQ>moJwQ>°Q>m

(C) E{µ\${Q>g ‡Om{V

(D) Cn`©w∫$ _oß go H$moB© Zht

66. Jw~a°bm Ho$ XwΩY amoJ H$m H$maH$ H$m°Z h°?

(A) ~°{gbg Ww[a®{OE{›gg

(B) ~°{gbg g~{Q>{bg

(C) ~°{gbg nmonrbr

(D) ~°o{gbg go[a`g

67. Eo\o${bZg _mbr {H$g H$sQ> H$m _hŒdnyU©

naOrÏ`m^ h°?

(A) g°Z Omog ÒHo$b

(B) go~ H$m Í$B©`m H$sQ> (E{\$S>)

(C) g\o$X _äIr

(D) nŒmr-gwaßJH$

68. {ZÂZ{b{IV ‡`moJembm nmofH$m| _| go {H$go

AßS>m naOrdr Ho$ gßdY©Z Ho$ {bE ‡`moJ {H$`m

OmVm h°?

(A) YmZ H$m KwZ

(B) Mmdb H$s {VVbr

(C) amBg _rb _m°W

(D) Bß{S>`Z _rb _m°W

69. {ZÂZ{b{IV dßem| _| go H$m°Z H$sQ>m| H$m

‡^mdembr na^jr h°?

(A) H$m∞pägZo{bS>r

(B) aoSw>dmBS>r

(C) H´$mBgmo{nS>r

(D) Cn`w©∫$ g^r

70. {dÌd _| H$sQ>ZmeH$ ‡{VamoY H$m nhbm _m_bm

{H$g H$sQ> _| gy{MV {H$`m J`m Wm?

(A) S>m`_ßS>~°H$ _m°W

(B) g°Z Omog ÒHo$b

(C) _äIr

(D) {Q>»>r
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71. Who was the first entomologist

to Government of India?

(A) Lionel de Nicéville

(B) Afzal Husain

(C) Ronald Ross

(D) George Hampson

72. The Central Insecticides Act was

made in the year

(A) 1948

(B) 1958

(C) 1968

(D) 1978

73. Indian Council of Agricultural

Research was set up in the year

(A) 1927

(B) 1928

(C) 1929

(D) 1930

74. Forewings of Coleoptera order of

insects are known as

(A) halteres

(B) elytra

(C) tegmina

(D) scaly wings

75. Who is the father of biological

classification?

(A) Darwin

(B) Lamarck

(C) Aristotle

(D) Mendel

76. Filter chamber is found in which

order of insect?

(A) Orthoptera

(B) Coleoptera

(C) Homoptera

(D) Heteroptera
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71. ^maV gaH$ma Ho$ ‡W_ H$sQ>-d°km{ZH$ H$m°Z Wo?

(A) {b`moZob S>r> ZmBg{dbo

(B) A\$µOb h˛g°Z

(C) amoZmÎS> am∞g

(D) Om∞O© h°ÂngZ

72. Ho$›–r` H$sQ>Zmer H$mZyZ {H$g df© _| ~Zm Wm?

(A) 1948

(B) 1958

(C) 1968

(D) 1978

73. ^maVr` H•${f AZwgßYmZ n[afX≤ H$s ÒWmnZm

{H$g df© _| h˛B©?

(A) 1927

(B) 1928

(C) 1929

(D) 1930

74. H$sQ> _| H$mo{bEflQ>oam JU _| AJ´ nßIm| H$mo {H$g

Zm_ go OmZm OmVm h°?

(A) hmob≤{Q>`g©

(B) E{bQ¥>m

(C) Q>opΩ_Zm

(D) ÒH°$br nßI

75. O°{dH$ dJuH$aU Ho$ OZH$ H$m°Z h°ß?

(A) S>m{d©Z

(B) bo_mH©$

(C) Eo[aÒQ>moQ>b

(D) _|S>b

76. {\$ÎQ>a H$j H$sQ Ho$ {H$g JU _oß nm`m OmVm

h°?>

(A) Am∞Wm}flQ>oam

(B) H$mo{bEflQ>oam

(C) hmo_moflQ>oam

(D) ho>Q>oamoflQ>oam
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77. Gizzard is absent in which

order?

(A) Coleoptera

(B) Orthoptera

(C) Hemiptera

(D) Isoptera

78. Sound producing wings are

found in

(A) orthoptera

(B) diptera

(C) hymenoptera

(D) coleoptera

79. Principal excretory product in

aquatic insects is

(A) uric acid

(B) ammonia

(C) allantoin

(D) amino acid

80. Indirect metamorphosis is found

in

(A) strepsiptera

(B) ephemeroptera

(C) orthoptera

(D) thysanura

81. Labial glands are excretory

organs found in

(A) protura

(B) odonata

(C) collembola

(D) diplura

82. Which of the following orders

comprises white ants?

(A) Hymenoptera

(B) Strepsiptera

(C) Dictyoptera

(D) Isoptera
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77. {H$g JU _| {JµOmS>© AZwnpÒWV hmoVm h°?

(A) H$mo{bEflQ>oam

(B) Am∞Wm}flQ>oam

(C) ho{_flQ>oam

(D) AmBgmoflQ>oam

78. ‹d{Z CÀnfi H$aZo dmbo nßI nm`o OmVo hß°

(A) Am∞Wm}flQ>oam _|

(B) {S>flQ>oam _|

(C) hmB_oZmoflQ>oam _|

(D) H$mo{bEflQ>oam _|

79. Obr` H$sQm|> _| _wª` CÀgO©Z nXmW© h°

(A) `y[aH$ Eo{gS>

(B) A_mo{Z`m

(C) Ebo›Q>moBZ

(D) E_rZmoo Eo{gS>

80. A‡À`j H$m`m›VaU nm`m OmVm h°

(A) ÒQ¥o>pflgflQ>oam _|

(B) E{\$_oamoflQ>oam _|

(C) Am∞Wm}flQ>oam _|

(D) WmBgoZyam _|

81. AmoÓR>Á J´p›W {H$g_| CÀgO©Z AßJ Ho$ Í$n _|

nm`r OmVr h°?

(A) ‡moQyam

(B) AmoS>moZoQ>m

(C) H$moboÂ~mobm

(D) S>mBflbyam

82. BZ_| go {H$g JU _| Xr_H$ AmVm h°?

(A) hmB_oZmoflQ>oam

(B) ÒQo¥>pflgflQ>oam

(C) {S>päQ>>`moflQ>oam

(D) AmBgmoflQ>oam
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83. Which of the following insect

orders has predaceous insects?

(A) Lepidoptera

(B) Phasmida

(C) Orthoptera

(D) Neuroptera

84. The father of modern bee-

keeping in India is

(A) A. S. Atwal

(B) G. S. Dhaliwal

(C) K. P. Srivastava

(D) S. Pradhan

85. Moniliform antennae are found

in

(A) grasshopper

(B) cockroach

(C) dragonfly

(D) termite

86. The book, Indian Insect Life was

authored by

(A) H. M. Lefroy

(B) T. B. Fletcher

(C) S. Pradhan

(D) K. P. Srivastava

87. Seed gall nematode causes

heavy damage to

(A) rice

(B) wheat

(C) mustard

(D) sorghum

88. Heterodera sp. is known as

(A) cyst nematode

(B) root knot nematode

(C) seed gall nematode

(D) reniform nematode
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83. {ZÂZ{b{IV _| go H$m°Z-gm JU H$sQ> na^jr

h°?

(A) bonrS>moflQ>oam

(B) \°$pÒ_S>m

(C) Am∞Wm}flQ>oam

(D) ›`yamoflQ>oam

84. ^maV _| AmYw{ZH$ _Yw_äIrnmbZ Ho$ OZH$

H$m°Z h°ß?

(A) E0 Eg0 AQ>dmb

(B) Or0 Eg0 Ymbrdmb

(C) Ho$0 nr0 lrdmÒVd

(D) Eg0 ‡YmZ

85. _mbmH$ma ˚m•ß{JH$mE± nmB© OmVr h°ß

(A) {Q>S≤>S>m _|

(B) {VbM≈>m _|

(C) S¥>°JZ‚bmB© _|

(D) Xr_H$ _|

86. Bß{S>`Z B›goäQ> bmB\$ nwÒVH$ Ho$ boIH$ H$m°Z

h°ß?

(A) EM0 E_0 bo\´$m∞`

(B) Q>r0 ~r0 ‚boMa

(C) Eg0 ‡YmZ

(D) Ho$0 nr0 lrdmÒVd

87. ~rO {n{Q>H$m gyÃH•${_ ¤mam A{YH$ j{V hmoVr

h°

(A) Mmdb H$s

(B) Johˇ± H$s

(C) gagmoß H$s

(D) ¡dma H$s

88. hoQ>oamoS>oam ‡Om{V H$hbmVr h°

(A) nwQ>r> gyÃH•${_

(B) OãS>JmßR> gyÃH•${_

(C) ~rO {n{Q>H$m gyÃH•${_

(D) d•∏$mH$ma gyÃH•${_
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89. Oviposition marking pheromone

is produced by

(A) housefly

(B) whitefly

(C) fruit fly

(D) syrphid fly

90. Function of peritrophic

membrane in insect is

(A) absorption

(B) assimilation

(C) protection

(D) All of the above

91. Fumigants include

(A) DD

(B) EDB

(C) DBCP

(D) All of the above

92. In insect ovary is a part of

(A) male reproductive system

(B) female reproductive system

(C) male and female

reproductive system

(D) None of the above

93. Wings of lepidoptera are

(A) membranous wings

(B) scaly wings

(C) cleft wings

(D) fringed wings

94. Insect body is divided as

(A) bilateral symmetrical

(B) monolateral symmetrical

(C) trilateral symmetrical

(D) None of the above
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89. A�S> {ZjonU gßHo$V \o$amo_moZ {H$g H$sQ> ¤mam

CÀnfi hmoVm h°?

(A) Kaoby _äIr

(B) g\o$X _äIr

(C) \$b _äIr

(D) {ga{\$S> _äIr

90. H$sQ> _| no[aQ¥>mo{\$H$ {PÑr H$m H$m`© h°

(A) AdemofU

(B) {_bmZm

(C) gwajm

(D) Cn`w©∫$$ g^r

91. ‡Yy_H$ Ho$ A›VJ©V h°

(A) DD

(B) EDB

(C) DBCP

(D) Cn`w©∫$$ g^r

92. H$sQ> _| A�S>me` ^mJ h°

(A) Za OZZmßJ

(B) _mXm OZZmßJ

(C) Za Edß _mXm OZZmßJ

(D) Cn`w©∫$ _| go H$moB© Zht

93. bonrS>moflQ>oam JU Ho$ nßI hß°

(A) {PÑrXma nßI

(B) naVXma nßI

(C) {d^m{OV nßI

(D) ~m¯ gVh nßI

94. H$sQ> H$m eara {d^m{OV h°

(A) {¤njr` g_{_V O°gm

(B) EH$njr` g_{_V O°gm

(C) {Ãnjr` g_{_V O°gm

(D) Cn`w©∫$ _| go H$moB© Zht
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95. Puccinia hordei is a causal

organism of

(A) leaf rust

(B) stem rust

(C) stripe rust

(D) None of the above

96. Mustard aphid is a

(A) sucking pest

(B) leaf feeder

(C) root feeder

(D) pod feeder

97. The first plant protection advisor

to Government of India was

(A) A. S. Atwal

(B) M. S. Mani

(C) H. S. Pruthi

(D) S. Pradhan

98. Order comprising phytophagous

insects is

(A) Siphunculata

(B) Strepsiptera

(C) Phasmida

(D) Odonata

99. Predators are those which feed

on

(A) plants

(B) roots

(C) insects

(D) flowers

100. Male genitalia are present on

(A) 7th abdominal segment

(B) 8th abdominal segment

(C) 9th abdominal segment

(D) 11th abdominal segment
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95. npäg{Z`m hmo{S>© _____ H$m amoJH$maH$ Ord h°ü&

(A) nŒmr OßJ

(B) VZm OßJ

(C) n≈>r OßJ

(D) Cn`w©∫$ _| go H$moB© Zht

96. gagmßo H$m _mhˇ± H$sQ> h°

(A) MyfH$ H$sQ>

(B) nU© nmofH$

(C) OãS> nmofH$

(D) \$br nmofH$

97. ^maV gaH$ma Ho$ ‡W_ nm°Y gßajU gbmhH$ma

Wo

(A) E0 Eg0 AQ>dmb

(B) E_0 Eg0 _{U

(C) EM0 Eg0 ‡yWr

(D) Eg0 ‡YmZ

98. V•U^jr H$sQ> {H$g JU go hß°?

(A) gmB\$ZHy$boQ>m

(B) ÒQ¥>opflgflQ>oam

(C) \°$pÒ_S>m

(D) AmoS>moZoQ>m

99. na^jr nmo{fV hmoVo h¢

(A) nm°Ymßo na

(B) OãS>moß na

(C) H$sQ>m| na

(D) nwÓnm| na

100. Za OZZmßJ nm`o OmVo hß°

(A) 7d| CXa I�S> na

(B) 8d| CXa I�S> na

(C) 9d| CXa I�S> na

(D) 11d| CXa I�S> na
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SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ÒWmZ
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25/AGS/M–2023–08 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

nm°Ym gßajU
nÃ—II

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe
1. Bg ‡ÌZ-nwpÒVH$m  _| Hw$b 100 ‡ÌZ h¢ü&
2. g^r ‡ÌZm|  Ho$  AßH$  g_mZ h¢ü&
3. g^r ‡ÌZm|  Ho$  CŒma  X|ü&
4. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s

˚m•ßIbm _w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gßª`m 30 Am°a 31) g{hV nyao 32 _w{–V

n•> h¢ Am°a H$moB© n•> `m ‡ÌZ Jm`~ `m {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _|

{H$gr ‡H$ma  H$s Ãw{Q> nmZo na VÀH$mb BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

5. `{X {H$gr ‡ÌZ _| {H$gr ‡H$ma H$s H$moB© _w–U `m Vœ`mÀ_H$ ‡H$ma H$s Ãw{Q> hmo, Vmo ‡ÌZm| Ho$ AßJóOr VWm {h›Xr Í$nm›Vam| _| go
AßJóOr Í$nm›Va H$mo  _mZH$  _mZm Om òJmü&

6. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
7. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo ‡ÌZ-nwpÒVH$m g{hV CŒma nÃH$ {X`m Om òJmü& AnZo CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ

_| AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$ Om±Mm

Zht Om`oJmü&

8. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV H$mo>H$ H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
go AdÌ` Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma

nÃH$  H$m ghr _yÎ`mßH$Z Zht hmoJmü&

9. Bg ‡ÌZ-nwpÒVH$m _| g^r ‡ÌZ Am°a CZHo$ CŒma AßJóOr Edß {h›Xr _| _w{–V h¢ü& ‡À òH$ ‡ÌZ Ho$ Mma CŒmaçç(A), (B), (C) Am°a
(D) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a AnZo CŒma nÃH$ na Aß{H$V H$a|ü& `{X AmnH$mo
Eogm bJo {H$ {H$gr ‡ÌZ Ho$ EH$ go A{YH$ CŒma ghr h¢, Vmo Amn AnZo CŒma nÃH$ _| Cg CŒma H$mo Aß{H$V H$a| Omo AmnH$mo gdm}Œm_
bJoü& ‡À òH$ ‡ÌZ Ho$ {bE Ho$db EH$ hr CŒma MwZZm h°ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$ _| Aß{H$V ghr CŒmam| na
{Z^©a hmoJmü&

10. CŒma nÃH$ _| ‡À òH$ ‡ÌZ gßª`m Ho$ gm_Zo Mma d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À òH$ ‡ÌZ Ho$ {bE
Ho$db EH$ CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _|
{ZemZ bJmVo h¢, Vmo AmnH$m CŒma JbV _mZm Om òJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr

Ò`mhr Ho$  ~m∞b-nm∞B›Q> noZ H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

11. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm H$s Ad{Y _| narjm ^dZ go
~mha H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m
AnZo gmW bo OmZo H$s AZw_{V  h°ü&

12. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm
AmnH$mo X�S>  {X`m  Om gH$Vm h°ü&

13. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr
narjmH$j  H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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